
    
 
 

Power by: VISIONet Info Solution Pvt. Ltd 
Website : www.edubull.com Mob no. : +91-9350679141      

Edubull

    

 3 
 CHAPTER    

 
 
    
    
    
    
    
    
  
 

   
 

 
 

 
 

r     
(i) = 2r d , d = 2r   
(ii) = r2   d2/4   
(iii) =  2

2r  

(iv) = 4
2r  

  
 

 R r 
 

  = R2 – r2 = (R2 – r2) = (R + r) (R – r)  
 

r R

 
  : 
 (i)  

 
 (ii)  

 
 (iii) 

 
 (iv) 

 
   = 

   
Ex.1 

22 cm  
Sol.  r 
  = 22 cm 
    2r = 22  2 × 7

22  × r = 22  
   r = 7/2 cm  
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   = r2 = 7
22 × 2

7
2 
 cm2   

        = 38.5 cm2  

Ex.2 
22 cm  

Sol.  r  
   = 22 cm 
  2r = 22  2 × 7

22 × r = 22  r = 2
7  cm 

   = 4
1 r2  

   = 


 


 2

2
7

7
22

4
1 cm2 

   = 



  2

7
2
7

7
22

4
1 cm2   

   = 4
77  cm2 = 9.625 cm2 

 
Ex.3 66 cm 

( = 22/7 ).   
Sol.  r cm  
  = 66 cm  
  1/2(2 r) = 66  
   [  = 2

1 (2r)]          
  r = 66 22/7 × r = 66 r = 21 cm  
  = 2r = (2 × 21) cm  
                = 42 cm  
 
Ex.4 16.8 cm 

 
Sol.  r cm   
  = 2r cm = 2r cm  
  16.8 cm 

  
  = + 16.8  
  2r = 2r + 16.8 
  2 × 7

22 × r = 2r + 16.8   


  7
22

  
  44r = 14r + 16.8 × 7  

  44r – 14r = 117.6 30 r = 117.6 
  r = 30

6.117 
  = 3.92 cm  
 
Ex.5 

130  sq. cm 
14 cm  

Sol.  

   r1 cm 
r2 cm  

  C1  C2 ,  
   C1C2 = r1 + r2 
  14 = r1 + r2  [ C1C2 = 14 cm ( )] 
   r1 + r2 = 14                ....(i) 
  

130  cm2  
   r12 + r22 = 130  
   r12 + r22 = 130               ....(ii) 
  ,  
   (r1 + r2)2 = r12 + r22 + 2r1r2   

 r1 r2 
C1 C2 

 
   142 = 130 + 2r1r2 
          [  (i)  (ii) ] 
   196 – 130 = 2r1r2   
  r1r2 = 33       ....(iii) 
  ,  
   (r1 – r2)2 = r12 + r22 – 2r1r2  
   (r1 – r2)2 = 130 – 2 × 33  
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       [(ii)  (iii) ] 
   (r1 – r2)2 = 64  r1 – r2 = 8           ....(iv) 
  (i) (iv) , r1 = 11 cm 

r2 = 3 cm.
  11 cm 3 cm.  
 
Ex.6 

116  cm2 
6 cm  

Sol.  R r 
O  O' ,  
 

6 cm r 
O O' 

R 

      = 116 cm2  
  R2 + r2 = 116   
  R2 + r2 = 116  ....(i) 
  = 6 cm  
  OO' = 6 cm  
  R – r = 6    ....(ii) 
  , (R + r)2 + (R – r)2 = 2(R2 + r2) 
  (R + r)2 + 36 = 2 × 116   
         [(i)  (ii) ] 
  (R + r)2 = (2 × 116 – 36) = 196 
  R + r = 14    …..(iii)  
  (ii)  (iii) ,  
   R = 10  r = 4.  
  10 cm   

4 cm  
 
Ex.7 

484 cm2 

( = 22/7 ) 
 
 
 
 

Sol.  = 484 cm2  
   484 cm= 22 cm  

    
    = ( )2
   =      = 4 ( )   

   = (4 × 22) cm = 88 cm   
  r  
  =  
  2r = 88  2 × 22/7 × r = 88 r = 14 cm  
    = r2  
   = 



  2)14(7

22 cm2 = 616 cm2 

 

Ex.8 28 cm 
 

Sol.  =  
  = 



  287

222 cm  
                [C = 2r ] 
  = 176 cm   ....(i) 
  x cm   
   =  
   4x = 176       [(i) ] 
   x = 44 cm  
  44 cm  
 

Ex.9 
352 m , 

396 m  
Sol.  

R r   
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O R 
r 

 
   2R = 396  2r = 352 
  2 × 22/7 × R = 396  2 × 22/7 × r = 352 
  R = 396 × 7/22 × 1/2  r = 352 × 7/22 × 1/2 
  R = 63 m  r = 56 m  
  = (R – r)   
   = (63 – 56)  = 7  
Ex.10 220 m 

7m 
  2 

( = 22/7 )  
Sol.  

r R ,  
   = 220  
   2r = 220 2 × 22/7 × r = 220 r = 35 m  
  7  
  R = = r + 7 = (35 + 7) m = 42 m 

 

O r 

R

7 m  
    
  = 2R = 2 × 22/7 × 42 m = 264 m 
  =   2  
   
  = (  × )  
  =   (264 × 2) =   528  

 
Ex.11 11 km 

5000 
  

Sol.  r cm  
   
   =  km5000

11  

  5000
11 × 1000 × 100 cm = 220 cm 

   = 220 cm  
   2r = 220 cm    2 × 22/7 × r = 220 
   r = 35 cm 
   = 2r cm = (2× 35) cm = 70 cm  
  70 cm  
Ex.12 80 cm 10 

66 ?  
Sol.  = 66 km/hr   
   1 = 66 km  
   10  
   = 60

66  × 10 km = 11 km = 11 × 1000 × 100 cm  
  ,  
  = 40 cm  
    
   = 2 × 22/7 × 40 cm  
  

 
   = 2 × 22/7× 40 cm 
   10 
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     = 10  

  = 40222
7100100011

407
222

10010011




   = 4375 

  10 4375 
 

 
Ex.13 

21 cm 
10.5 cm 

Sol.  ,  
  r = 

= 10.5 cm 
  r1 = 

 
     = (10.5 + 10.5) cm = 21 cm = 2r cm  

 

 
  r2 = 

 
     = (21 + 10.5) cm = 31.5 cm = 3r cm  
  r3 = 

 
     = (31.5 + 10.5) cm = 42 cm = 4r cm  

  r4 = 
 

     = (42 + 10.5) cm = 52.5 cm = 5r cm 
  ,  
  A1 = 

 
  = r2 = 22/7× (10.5)2 = 22/7 × 10.5 × 10.5  
   = 22 × 1.5 × 10.5 = 346.5 cm2 
  A2 = 

 
  = (2r)2 – r2 = 3r2 = 3A1 = 3 × 346.5 cm2  
   = 1039.5 cm2 
  A3 = 

 
  =  (3r)2 – (2r)2 = 9r2 – 4r2 = 5r2 = 5A1  
   = 5 × 346.5 cm2 = 1732.5 cm2  
  A4 = 

 
  =  (4r)2 – (3r)2 = 7r2  
  = 7 A1 = 7 × 346.5 cm2   = 2425.5 cm2 
  A5  = 

 
  = (5r)2 – (4r)2 = 9r2  
  = 9 A1 = 9 × 346.5 cm2  = 3118.5 cm2 
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   
 


A B 

r
O

C

 
 :  
 

 
 OAB  
 :  
 

 
 OACB  
 :  
 (i) 

  
 (ii) 

 
 (iii) 

 
 (iv) 

 

   
  

180
  × r  

 

r 
O

r 

A B 

C 

 
 r 

    
   = 180

  × r    ....(i) 
  , 

360
r 2  

 r,  
A  

 A = 360
  × r2  

    = 360
 × ( )        ....(ii) 

 : 
(i) 60 =360º  
 

=
º

60
360 


   = 6º  

 6º 
 

(ii) 12 = 360º  
  

=  
º

12
360 


 = 30º                   

   
Ex.14 21 cm 

150º 
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Sol.  r  
 A  

  l = 360
  × 2r  A = 360

  × r2  
  , r = 21 cm   = 150  
   l =  



  217

222360
150 cm = 55 cm  

   A =  



  2)21(7

22
360
150 cm2 = 2

1155 cm2 
      = 577.5 cm2 

Ex.15 
14 cm 

45°  
Sol.  r 

A 
 

   A = 360
  × r2 

  , r = 14 cm   = 45 
 A = 



  2)14(7

22
360
45 cm2  

  = 



  14147

22
8
1  cm2 = 77 cm2   

Ex.16 7 cm 3.5 cm 
 

  ( = 22/7 ).   
Sol.  A1  A2 OAB  

OCD  A1 = 7 cm 
30º  

    A1 = 



  277

22
360
30 cm2       

   


  2r360A         
  A1 = 77/6 cm2  

  A2 = 3.5 cm 30º 
  

 
3.5 cm 

30ºO 
D 

B

A 
7 cm C

 
  A2 = 



  2)5.3(7

22
360
30 cm2  

   A2 = 



  2

7
2
7

7
22

12
1 cm2 =  24

77 cm2 
   
  = A1 – A2  
  = 


  24

77
6

77 cm2 

  = 24
77 × (4 – 1) cm2 = 77/8 cm2 = 9.625 cm2  

Ex.17 30º 
8.8 cm 

 
Sol.  ,  = 30º, l =  = 8.8 cm  
   l = 360

  × 2r 8.8 = 360
30  × 2 × 22/7 × r  

  r = 22
768.8    cm = 16.8 cm  

Ex.18 14 cm 
( = 22/7 )   

Sol.  
14 cm  

  6º 
14 cm 

6º 
A   

    A = 360
  × r2   

   A = 



  2)14(7

22
360

6 cm2  
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  A = 



  14147

22
60
1 cm2 = 15

154 cm2 
            = 10.26 cm2 

Ex.19 5.2 cm 
5.2 cm 

 
Sol.  OAB  
  OAB  = 16.4 cm  

 

A B

O

 
   OA + OB +  AB = 16.4 cm  
   5.2 + 5.2 + AB = 16.4   
   AB = 6 cm l = 6 cm  

   OAB = 2
1 lr  

  = 2
1 × 6 × 5.2 cm2 = 15.6 cm2      

Ex.20 10 cm 9 AM 
9.35 AM 

 
Sol.  

= 6º 
  35 

= (6 × 35)º = 210º 
  35 

 
  = 10 cm 210º 

 

  = 



  2)10(7

22
360
210 cm2 = 183.3 cm2  

   
 


  2rº360A

       
Ex.21 

4 cm  6 cm 2 

  ( = 22/7 ) 
Sol.  2 4  
  
  = 4 ( 4 cm ) 

   = 4 × 


  47
222 cm =  7

704 cm 

  2 48  
    
  = 48 ( 6 cm  ) 

  = 48 × 


  67
222  cm = 7

12672 cm 

  ,  
  

 

  =  


  7
12672

7
704 cm = 1910.57 cm 

Ex.22 5 cm 

O 0 10 cm 
P 



    
 
 

Power by: VISIONet Info Solution Pvt. Ltd 
Website : www.edubull.com Mob no. : +91-9350679141      

Edubull

Sol.  AOP = BOP = 
  AB 

OAP  

  cos  =  OP
OA = 2

1
10
5     = 60º 

  AOB = 2 = 120º 
 


O

5 cm 

5 cm 
10 cm Q P

35 cm 
A

B
35 cm 

 
    AB = 360

52º120   cm = 3
10  cm  

   [ = 360
 × 2r ]        

  
 

 = – AB  
 = 2 × 5 cm – 3

10 cm =  3
20 cm 

 ,  
  OAQB = 360

120  ×  × 52 cm2 
 

 =  3
25 cm2  2r360    

 OAPB = 2 (OAP )  
 = 2 × (1/2 × OA × AP)    
 = 5 ×  2cm35       

 [ OP2 = OA2 + AP2 AP = 3525100   ] 
 =  325 cm2  
 ,   
  = OAPB 

– OAQB  
 =  


  3

25325 cm2 = )33(3
25    cm2 

 
Ex.23 5 cm 

20cm2 

 
Sol.  r cm 5 

AB O  
,  

  AB = 5 cm   
               OAB  = 20cm2 
   360

  × 2r = 5  360
  × r2 = 20 

   





5
20

2360
360

2

r
r  

 

20 cm2 

5  cm 
B 

AO

 
  r/2 = 4   r = 8 cm  
  : -  = 2

1 lr 20  

   = 2
1  × 5 × r = 8 cm  
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Ex.24 8 
45 cm 

 
Sol.  ,   
  

= 8
º360  = 45º 

 

 
  ,  
   
  = 45º 45 cm 

 
  = 



  45457

22
360
45 cm2  

                       
 2r360   

 
  = 7

22
8
1   × 45× 45 cm2 = 795.53 cm2 

 
Ex.25 35 mm 

5 
10 

: 
 (i)  
 (ii)  
Sol. (i) ,  
  = 35 /2 mm + 

 

  

 

 
  = 2 × 2

35  + 5 × 35 mm  

  = 


  1752
35

7
222  mm  

  = 285 mm  
 (ii) 10 

 
  = 1/10 ( )  
  = 1/10 ×  × (35/2)2 cm2  
  = 2

35
2

35
7
22

10
1  mm2  

  = 4
385 mm2 

 

    :  
 

 
 :  
 

 
 :  
 

 
 

O

P Q
R

S 
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 OPRQ  = PRQ 
 + OPQ  

 

O

P Q
R

2 2 

S 

    PRQ 
= 



 

2cos2sin360  r2 
 

Ex.26 
120º 

21 cm  ( = 22/7 )  
Sol.  , r = 21 cm   = 120
   
 = 



 

2cos2sin360 r2   

 = 



  º60cosº60sin360

120
7
22  (21)2 cm2 

   = 


  2
3

2
1

21
22  (21)2 cm2 

   

 

120°
O 

P

R 

Q 

21 cm 

 

  = 


  4
3)21()21(21

22 22 cm2 

  = 


  34
441462 cm2 = )32188(4

21   cm2  
 

Ex.27 10 cm AB 
( = 3.14 )  

Sol.  r º 
  
 

90º10 cm 10 cm 
O

A B

 
  A = 



 

2cos2sin360 r2  

  , r = 10   = 90º 
  A = 



  º45cosº45sin4

9014.3  (10)2 cm2  

  A =  



  2

1
2

1
2
14.3   10)2 cm2  

  A =  {3.14 × 25 – 50}cm2 = (78.5 – 50) cm2  
  = 28.5 cm2 
  

= – 
       = {3.14 × 102 – 28.5} cm2  
       = (314 – 28.5) cm2 = 285.5 cm2        
Ex.28 , A  B A 

O 
PQ B 
M PM M, PQ 

25 


  63  cm2  
Sol.  B PQ  

= 5 cm  
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   = 1/2 ×  × 52 cm2 = 2

25 cm2 
  MOQ = MOP =  
  OMP ,  
   sin  =  2

1
10
5

OP
PM   

    = 30º   POQ = 2 = 60º  
  A PQ  
  = 10 cm 60º 

 
  =  



  º30cosº30sin360

60 × 102 cm2  

      







  2r2cos2sin360A  

   = 



  3253

50 cm2 
 ,  
   = 



 


  3253

50
2

25 cm2 

    = 



  6

25325  cm2   

        = 25 



  63  cm2         

   
Ex.29 I 

32 cm  34 cm II 
19cm  21 cm 

?  

Sol.  I = ( × 172 –  × 162) cm2 

   = 7
22  × (172 – 162) cm2 

   = 7
22  × ( 17 + 16 ) (17 – 16) cm2 

   = 7
22 × 33 cm2 

  II  =( × 10.52 –  × 9.52) cm2  
   =  (10.52 – 9.52) cm2 

   = 7
22 × (10.5 + 9.5) (10.5 – 9.5) cm2  

 = 7
22  × 20 cm2 

 
  ,  
  

= 7
22 × 33 + 7

22 × 20 cm2 

   = 7
22  × (33 + 20) cm2 = 166.57 cm2 

Ex.30 
O 
7 cm 14 cm AOC = 40º 
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Sol.    

 
  ABDC  = AOC 

 – BOD  

  = 


  777
22

360
4014147

22
360
40  cm2 

  = 


  17229
1214229

1   cm2 

  = 9
22 =  3

154 × (28 – 7) cm2 =  cm2 

   

   = 


  777
2214147

22 cm2   

   = (22 × 14 × 2 – 22 × 7 × 1)cm2 
   = 22 × 21 cm2 
   = 462 cm2    
  ,     
  

= 


  3
154462  cm2  

    =  3
1232 cm2 = 410.67 cm2 

Ex.31 AB CD 
21 cm  7 cm 

O AOB = 30º , 
 

Sol.  
  = OAB   
     – OCD    
    
  = 


  777

22
360
3021217

22
360
30  cm2 

  =  7
22

360
30  × (21 × 21 – 7 × 7) cm2   

 
21 cm 

D

B 

O

A
7 cm C 

 
  = 42

11 × (21 + 7) × (21 – 7) cm2  

  = 42
11 × 28 × 14 cm2 = 102.67 cm2    

Ex.32 PQRS 6 cm 
PQ, QR  RS 

PQ QS 
 

Sol.  PS = 6 cm  = 12 cm     

 
  PQ = QR = RS = 12/3 = 4 cm 
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  QS = QR + RS = (4 + 4) cm = 8 cm  
   
   = 6 cm  
   + 4 cm  
   + 2 cm  
   = ( × 6 +  × 4 +  × 2)  cm = 12 cm 
  = PS 

+ PQ 
– QS  

 = 7
22

2
1   × (6)2 + 7

22
2
1   × 22 – 7

22
2
1  ×(4)2 

 = 7
22

2
1    (62 + 22 – 42) 

 = 7
22

2
1    × 24  

 = 7
264  = 37.71 cm2 

 
Ex.33 70 m × 52 m 

21 m 
?    

Sol.  
r = 21 m 

  
   = 4

1  r2 

 

   = 



  2)21(7

22
4
1 cm2  

         = 2
693 cm2 =346.5 cm2   

 

Ex.34 ABCD 
AB = 20 cm BC = 14 cm BC 

 
Sol.  ABCD = AB = 20 cm  
  ABCD = BC = 14 cm  
   ABCD  = (20 × 14) cm2  
          = 280 cm2  
  = BC = 14 cm 
   = 7 cm  

 

14 cm 

20 cm A B 

C D

 
  ABCD 

 
  = 1/2 (r2) =  


  277

22
2
1 cm2 = 77 cm2 

    
 = ABCD  –  
 = (280 – 77) cm2 = 203 cm2 
 

Ex.35 
              [ = 3.14 ]  
Sol.  = ABCD BD  
   = BD = 22 CDBC    
         =  22 86   cm = 10 cm  
  r   
    r = (10/2) cm = 5 cm  



    
 
 

Power by: VISIONet Info Solution Pvt. Ltd 
Website : www.edubull.com Mob no. : +91-9350679141      

Edubull

 

8 cm 
6 cm 

B A 

D C 
 

  ABCD  = AB × BC  
              = (8 × 6) cm2 =  48 cm2 
  = r2 = 3.14 × (5)2 cm2  
              = 78.50 cm2 
  = 

– ABCD  
   = (78.50 – 48) cm2 = 30.50 cm2 
 

Ex.36 AOBCA 3.5 cm O 

                 ( = 22/7 ) 
Sol.  AOBCA   

 

2 cm 

3.5m 

B 
D C 

A O  
  =  4

1 r2  = 1/4 × 22/7 × (3.5)2 
  = 1/4 × 22/7 × 7/2 × 7/2  
  = 27/8 cm2 = 9.625 cm2 
  AOD  = 1/2 ×  ×   
  = 1/2 (OA × OB) = 1/2 [3.5×2] cm2  
   = 3.5 cm2 
  ,  
   
  = –AOD   
  = (9.625 –3.5) cm2 = 6.125 cm2 
 

Ex.37 100 m 
14 m 

( = 22/7 ). 
Sol.  14 m 

 
 

100 m 

100 m 

14m 14m 

14m 14m    = 1/4 (r2) = 1/4 × 22/7 × 14 × 14 [ r = 14] 
  = 154 m2 
  4 = (4 × 154) m2 = 616 m2 
  100 m  
 =  (100 × 100) m2 = 10,000 m2 
  , 
   
   = 10,000 – 616 = 9384 m2 
 
Ex.38 ABCD OA = 21 cm 

OC = 14 m , 
          [ = 22/7 ] 

Sol.  OA = R = 21 m  OC = r = 14 m  
    
  = R  
   – r  

 

BDO

C

A

14 m21 m  
   = 4

1 R2 – 4
1 r2  = 4

  (R2 – r2)  
   = 4

1  × 7
22  (212 – 142) cm2  

    [ R = 21 m and r = 14 m] 
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   = 



  )1421()1421(7

22
4
1  m2  

   = 



  7357

22
4
1 m2= 192.5 m2 

Ex.39 ABCP  14 cm , 
AC 

 
Sol.  ABC  

 A

C

Q
P

B
14cm 

14cm  
   AC2 = AB2 + BC2 
    AC2 = 142 + 142  
   AC = 2142  = 14 2 cm  
   2

214
2

AC  cm = 27  cm 
  ,   
  =  APCQA  
  =  ACQA –  ACPA  
  =  ACQA – ABCPA  
      – ABC  
  = (AC ) 
  – [AB 
      – ABC ] 
= 








 



  14142

1147
22

4
1)27(7

22
2
1 22   

= 



  14142

114147
22

4
12497

22
2
1 cm2 

  = (154 – 154 + 98) cm2 = 98 cm2 
 

Ex.40 58 cm 

 
Sol.   
       = 2585858 22   cm 
  

229  cm  
  ,   
  = 229 cm 90º 

 

 
 = 



  º45cosº45sin360

90
7
22 × 2)229(  cm2        

            
  2r2cos2sin360 



   

 
 = 


  2

1
14
11  × 29 × 29 × 2 cm2  

 = 29 × 29 × 2 × 14
4 cm2 = 7

3364  cm2 
   
  = + 2 ( ) 
  = 



  7

336425858 cm2  

  = 



  7

336423364 cm2 

  = 3364 


  7
21  cm2 = 3364 × 9/7 cm2  

  = 4325.14 cm2 
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Ex.41 56 cm ABCD 

 
Sol.  ,  
  AC = BD = 2565656 22   m 

 
  OA = OB = 1/2 AC = 258 m  
  

228  cm  
  

= 228  m 
90º  

  = 



  º45cosº45sin360

90
7
22 × 2)228( cm2 

                  

 2r2cos2sin360 


    
º90228r   

  = 



  2

1
14
11 × 28 × 28 × 2 cm2 

  = 28 × 28 × 2 × 4/14 cm2  = 448 cm2 
    
   = 2 × 448 m2 = 896 m2 
   
   = 56 × 56 m2 = 3136 m2 

  = (3136 + 896) m2  
        = 4032 m2 

Ex.42 
ABCD 10 cm 

           ( = 3.14 ) 
Sol.  R1, R2, R3 

 R4   
  , R1 + R3  
  = ABCD – 

Q S  
  = 


  2514.32

121010 cm2  
                 [  = AP = 5 cm] 
  = (100 – 3.14 × 25) cm2 = (100 – 78.5) cm2  
  = 21.5 cm2 

 
  ,  
   R2 + R4 = 21.5 cm2 
    
  = ABCD – (R1 +  

R2 + R3 + R4 ) 
   = (100 – 2 × 21.5 ) cm2 = 57 cm2 
 

Ex.43 
ABCD 14 cm 
APD BPC  

Sol.   
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 = ABCD  –        
   = 14 × 14 cm2 – 2 


  277

22
2
1  cm2  

   = 196 cm2 – 154 cm2 = 42 cm2 
 

Ex.44 ABCD 
AB || DC  ABC = 90º, DAB=60º 

A, B, C  D 

17.5 m  
 (i)  
 (ii) AB = 75m 

CD = 50 m. 
Sol.  AB || CD  ABC = 90º 

  BCD = 90º. ,BAD = 60º 
   CDA = 180º – 60º = 120º  
       [ ] 
 (i)  
  =  A  + B 

+ C 
 + D  

  =  360
60 ×  × (17.5)2 + 360

90  ×  × (17.5)2  

   + 360
90  ×  × (17.5)2 + 360

120  ×  × (17.5)2 

   = 



 


  2)5.17(3

1
4
1

4
1

6
1  m2 

  =  ×
2

2
35 


 m2 = 2

35
2

35
7
22  m2 = 962.5 m2 

 

 (ii) DL, D AB  
 AL = AB – BL = AB – CD = (75 – 50) m = 25 m 
 ALD ,  
 tan 60º = AL

DL   25
DL3  DL  = 325  m 

  ABCD   
   = 1/2 (AB + CD) × DL 
   = 1/2 (75 +50) × 325 m2  
   = 1562.5 × 1.732 m2 = 2706.25 m2 
  ,  
   
 = ABCD – 4 

 
 = 2706.25 m2 – 962.5 m2 = 1743.75 m2 
 

Ex.45 
12 cm OAB 

O 6 cm 
     

Sol.  = OAB  + 
– 60º 6 cm 
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    

   =  


  222 6360
606124

3 cm2 

   = )636336(  cm2  
 = 


  7

2230336  cm2 = 


  3367
660 cm2 

Ex.46 32 cm 
ABC 

 
Sol.  OBD ,  
  cos 60º = OB

OD   sin 60º = OB
BD 

   2
1  = 32

OD  32
BD

2
3   

   OD = 16  BD = 316  
   BC = 2 BD = 332  
   

 
 
   = – ABC  

   = 


  22 )332(4
332 cm2 

   =  



  376832327

22 cm2 

   =  



  37687

22528  cm2 

 
Ex.47 AB  CD ( O ) 

OD 
OA = 7 cm, 

 
Sol.   
 = ( OD ( = 7 cm) )  
  + AB  
  – ABC   

 
  =  ×

2

2
7 


  + 1/2 ×  × (7)2 – 1/2 × AB × OC 

  = 



  7142

1492494 cm2   

 = 


  49494
3 cm2 = 


  49497

22
4
3 cm2  

 = 2
98231   cm2 = 66.5 cm2 

Ex.48 8 cm 
  

Sol.   
 = 2( ABCD  –ABD ) 
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  = 2 



  882

1)8(4
2 cm2 

  = 2 



  32644

1
7
22 cm2 

  = 2 



  327

1622 cm2 

  = 2 22 cm7
256cm7

224352 


   
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

  r  
  (i) = 2r 
  (ii)  = r2  

  (iii)  = 2
r2  

  (iv)  = 4
r2  

  R r 
R > r 

 
  = R2 – r2 = (R2 – r2) 
  r º 

, 
  (i)  
   = 360

 × 2r  

   = 360
 × ( ) 

  (ii) = 2r + 360
  × 2r 

  (iii)  
   = 360

  × r2 = 360
  × ( ) 

  (iv)  
   =  
            –  
   =  360

  × r2 – r2 sin 2
  cos 2

   

   =  



 

2cos2sin360 r 

 
 
 
 
 
 

        




